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Instructions/3 2

1. The question paper consists of both Multiple Choice Questions and subjective type questions. The
general questions are given in PART -1 which is of 40 marks and subject specific questions are given
in PART -2 of 60 marks, consisting of section-A of 40 marks (40 questions of | mark each), section-B

of 12 marks (3 questions of 4 marks each) and section-C of 8 marks (1 question of 8 marks ).
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2. In case of Multiple Choice Questions, cach question is of 1 mark. There will be negative marking and

0.25 lﬁarké will be deducted for each wrong answer. ONLY ONE most appropriate answer for each

question from the given option (A,B,C,D) is'to be encircled with Ball Pen against the question

number in the tabular form given on the next page. In case of more than one encircled answer, all the

marked answers will be ignored, and will be awarded zero marks for all such question/answers.
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3. Mobile Phones/Cellular Phones, Ear Phones, Laptop, Books, Notes and Electronics Watches with
facility of calculation, Calculators and Pagers or any other communication device, bags, etc. is strictly

prohibited inside the examination hall.
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PART -1

Multiple € hoice Questions (40 marks)

(Every correct answer: 1 mark, wrong an.wer: -0.25 marks, not attempted: 0 marks)

I

6.

The objectives of the Wild Life (protection, Act 1972 is

A. To preserve the biodiversity

B. Protection and consersation of wild life

C. To maintain esseniial ecological and life supporting systems
D. Al the above

The first major environmental protection law promulgated in India was

AIr Act

Water Act
Environmental Act
Motor vehicle Aot

SRl

Methods used for softening water containing permanent hardness are

A. Lime soda process
B. Zeolite process
C. Reverse osmosis
D. Allof the above

Which one is non luminous

A. Moon
B. sun
C. star
D. comet

In which one of the following sound travels fast

A. Solid
B, Air
C. Water

. Vacuum

Thinner particles responsible for dctenmatmg the air- L]u‘lllty tu-,ullmg.; in the damage of vital
body organs are referred as PM

A 20
B. 10
€ 28

B
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A. T3 UFE
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C. watarer dfaf@Eas
D. ey aga e
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A. g e ufgkar

B. foranarse wfshar

C. Ray wAay

D. 39ad |l

4. et W7 TS A&
A. g
B. gy
G, 'R
D.

5. farAafaf@a & @ frod wafdy s & amn s @
A. 8

B. gar

C. e

D. faare
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A. 20

B: 1o .. o

¢ TR

5750 )
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7. Transboundary pollution (or) Acid rain is caused by:
Hydrocarbon

Carbon dioxide

Carbon monoxide

Nitrogen oxide and sulphur dioxide

o0

8. ‘Kyoto Protocol’, an agreement signed by various countries, is associated with

A. Movement of hazardous waste

B. Deep Sea Oil and Mineral Exploration

C. Clean Environment and Climate Change

D. Building common food stock to save human beings from i1y natural disaster

9. Which of'the following are the key features of ‘National Ganga River Basin Authority
(NGRBA)*?

I. River basin is the unit of planning and management.

2. It spearheads the river conservation efforts at the national level.

3. One of the Chief Ministers of the States through which the Ganga flows becomes the.
Chairman of NGRBA or rotation basis.

Select the correct Answer using the code given below,

A. 1and 2 only
B. 2 and 3 only
C. I and3 only
D. 1,2and 3

10. The heat of hydration of cement can be ‘educed by

reducing the proportions of C; A

increasing the proportions of €3 A and C3 S
increasing the fineness of cement

. both (a) and (¢ )

where C: A and C; S are tricalcium aluminate and tricalcium silicate respectively.

o0

11. A feature "Bluetooth" now common in mobile phones gets its name from a
A. Chinese 10" Century King
B. UK Software Company
C. Greek Goddess
D. Danish 10" Century.l(ing '
12. Which of the following is an insulator?
A. Mica | ‘
B. Steel
C: Galvanized steel
D. Cadmium Copper
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13.

14.

15,

16.

17,

18.

19.

247

Rainbow is formed due to:

A. Scattering and refraction

B. internal reflection and dispersion

C. Reflection only

D. Diffraction and Reflection

Who among the following has not won an Oscar?
A. A.R.Rahman

B. Satyajit Ray

C. BhanuAthaiya

D. Dev Patel

The Sun Temple is located at

A. Bhubaneshwar

B. Mahablipuram

C. Konark

D. Mathura

The gas used in artificial ripening of fruits is
A. Carbon dioxide

GET IT ON
Google Play

The Tropic of Cancer passes through the states of 1. Gujarat; 2. Jharkhand; 3. Assam; 4. Mizoram

B. Acetylene
C. Ethane

D. Oxygen

A, 1,2and4

B. land2

C. 1,3and4
D. 1,2,3and 4

Out of the given alternatives, choose the one which best expresses the meaning of the word "Sultry":

A. Unpleasant

B. ll-smelling

C. Impure

D. Hot and sticky’

Select the correct meaning of the word "seminary"

A. Chapel
B. College
C. Convocation hail
D. Hostel ‘
. Choose the option which is the antonym of the word "folly"
A. Wisdom ‘
B. Antidote
C. Humility
D. Blame
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14. A=Rf@T & O fraer itent 787 Siar &2

A, TN {gAM

B. #egehd {

E C. e ¥

D. ¢d 9o

15,9 #fer Fud @

A. ¥aeiRat

~ B. AGIEARH

C. @Th

D. YT
16, Gell & HEAA Tahel A 3w Y S arell g @
A. HEA SEIFIEE

B. vfafeea

C. §0a

D. 3iferdisrT
17%%%@@%%@?%@@% 1. 95T - 251@33%4%3%1
A. 1,2 3T 4

B. 1 3R 2

C. 1,334

D. 1,23 3R a4 ‘ ‘
18. Rw arv fasedi # &, 98 TT SN "IAWCR":AUeq H Y UFd HIT §
A ufm

B. fHR-Ag®

C. ey

D. % 3 Faafaar

19. "seminary" &g &1 HET Y el

A. Chapel

B. College

C. Convocation hail
D. Hostel .
20.9¢ ey o a‘r 'FOLLY" ereg &7 gafzardt §
A. Wisdom
B. Antidote
C. Humility
 D. Blame
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21. Choose the option which is the antonym of the word "commend”

A. Criticize .
B. Comment

C. Forsake

D. Dexterity

22. In the following options, the word "break" is used in four different ways. Choose the option in which
the usage of the word is incorrect or inappropriate
A. After three hours of work, | am longing for a break.
B. My garment business has reached break-even.
C. Sheisstillin a state of shock after the break-in.
D. Unable to face the pressure, Sarah had a break-up.
23. In the following options, the word "blow" is used in four different ways. Choose the option in which
the usage of the word is incorrect or inappropriate
A. The hijackers threatened to blow up the plane if the government failed to concede to their
demands. '
B. Losing both her parents in quick succession was an insufferable blow to her.
C. The storm seems to be quite fierce, but I'm sure it will blow off by tomorrow.
D. Itisimmodest to blow your own trumpet.
24. Atrain X leaves station 'A" at 3 p.m. and reaches station 'B' at 4:30 p.m., while another train Y leaves
" station 'B' at 3:00 p.m. and reaches station 'A' at 4:00 p.m. These trains cross each other at:

A. 3:30p.m.
B, 320 p.m.
~C. 3:40p.m.
D. 3:36 p.m.

25. There are two urns. One contains two white balls and foLlr red balls, the other contains three white
and nine red balls. All balls are of the same shape and size. From each urn, one ball is drawn. What is
the probability of getting both the balls of the same colour? '

A. 1/24
B. 7/12
c. 1/12
D. 1/2

26. P, Q and R are three consecutive odd numbers in ascending order. If the value of three times P is 3
less than two times R, find the value of R

A. 5

B. 7

G 8 ¢ g
D. 11
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21. 9% fawed gof S "commend"sg et g -
A. Criticize

B. Comment

C. Forsake

D. Dexterity

22. Pfaf@d Rwedl #, Ueg "3h" H TUET AR I@T-360T alw & A ST &1 98 EweT g
fSreat eree &1 AT S AT I &

A &A & fie g 98, A v aF F AT 3cgE €

B. # yRNUE sUadrT 39 s a7 gl

C. -3 & arg $ft ag weA & FEufad A Bl

D. &I & 4%-319 g3 AT , A qard Wl A I@AA ¥ |

23, Pwfaf@e fawedt #, U "3EET GHET AR eyl @ frar Srar §) @@ fawed o

foreat ereg a1 U arerd 4T AT @

A. 3rgcal S RAE F 3ge Y e &, I G SA ) A F ERT B 7w @

B. 319eT ATAT-fer @ & @i, See & 2aufUER 7, 3ud fAv v miaddy 33 ( $1eE )

o

C. Thlel HTHT HAHT ST §, Afthet A3t TR & 6 Tg e aF 33 I |

D. UE 3T We & Ve 3P & AT TR I

24. W ¥5T X FEAT A 03:00 PM T DYl ¥ 3N 4:30 PM O T B @ UgH A, Fafh b
AR 3 Y ®eer B 3:00 &5 o1s A &1 3R 4:00 PM TR T A’ Ggd ATl %v}aﬁw
qu @ B A

A. 3:30 PM

B. 3:20 PM

C. 3:40 PM

D. 3:36 PM | '

25. @ & § v # & W 3¢ 3R A e g @ § guy F e wg AR & ared a7 g g

mﬁﬂéwﬁmaﬁ:aw%ﬁﬁmm&ﬁwﬁa&ﬁiﬁmmwﬁmeﬁra’m’rﬁa‘im‘r
qred el I GHIEAT F4T §7

A. 1/24

B. 7/12

C. 1/12 |

D. 1/2 } ¢

26. IR @ & p,0 3R R et v e e §) Ay e qom P @ HE 2 TR W 3
HA &, dl R &1 A 910 ' e B
A 5

B 7
C. 9
D211
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27

- 28.

29.

30.

Pipe A can fill a tank in 10 hours, and Pipe B can fill the same tank in 12 hours. Botk the pipes are
opened to fill the tank. After 3 hours, Pipe A is closed. Pipe B will fill the remaining part of the tank in:
A. 5 hours

B. 4 hours
C. 5 hours and 24 minutes
D. 3 hours

In a certain class, 72% of the students prefer cold coffee, and 44% prefer fruit juice. If each of them
prefers cold coffee or fruit juice, and 48 students like both, the total number of students in the class

is:

A. 240
B. 200
C. 300
D. 250

A vessel contains a mixture of milk and water in the ratio of 5:3 resgectively. How much of the mixture
must be siphoned off and replaced with water so that the mixture may be half milk and half water.

&
=
6

g |
3

A part of monthly hostel charges is fixed, and the remaining depends an the number of days one has
taken food in the mess. When a student A takes food for 20 days, she has to pay Rs. 1000 as hostel
charges, whereas a student B, who takes food for 26 days, pays Rs. 1180 as hostel charges. Find the
fixed charges, and the cost of food per day.

A. 400, 40
B. 400,30

. C. 300,30
D

..200, 20

10
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27. quqAma-eﬁémmm%ﬁhmsmémﬁuwkﬁmmmhaﬁ‘rméﬁ
ﬁvaﬂ?mm?fw%l3%%%@Aﬁ%lﬁﬂ%m$aﬁmﬁmm

A, 9T e

B. 9N ©¢

c. 5 e 3R 24 fAee

D. e 8¢

23.r.ra;ﬁlﬁ‘a?-raﬁmﬁ,'zz%wsarﬁwﬁ‘rwam%,maa%m—ﬂ_a:rmq-—ria'aﬂ?r?luﬁ-ﬁft
& S Y S8 FT AT el F @ GHE ¥, 3R 48 SE ) Qe v g, o wam A o A T
A. 240
B. 200

C. 300
D. 250

29. Us adet # FAM: 5:3 & Hegured A gy IR g H AT B forsyor &1 Rce TR faerer et
afew 3N gl ¥ dee Rar sier wifRe aifl @sor amar gy 3R sndr are 2

A 6=
6

BOWWGalﬁfrﬂw%wraw%mam%,amwmﬁmﬁmﬂ%ﬂ‘iﬁmwﬁrﬁt
Wﬂ%lﬁaaﬁémuzoﬁmmsﬂaﬂc?m%aiﬁrmﬂam#m 1 1000 E9 7 HIAA

mm%mﬁwmé’raTzefE:xT%ﬁvsﬁaéw%aﬁwm#mﬁnaoMﬂ
wmmm%nﬁﬁﬁa&wsﬁrﬁﬁwaﬁaﬁmwl : -

3
A. 400, 40
B. 400, 30
C. 300, 30
D. 200, 20

11
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Directions (Questions 31-33): These questions are based on the following information:

31.

32.

33,

34.

35.

e Sevenvillages A, B, C, D, E, F and G are situated as follows:
= Eis2km tothe west of B
e Fis2km tothe north of A
o (Cis1km tothe west of A
e Dis2km to the south of G
e Gis2km tothe east of C
e Disexactly in the middle of B and E.
A is in the middle of:
A. EandC
B. FandE
C. FandG
D. GandC
Which two villages are the farthest from one another?
A. DandC
B.. FandE
C. FandB
D. GandE :
How far is E from F (in km) as the crow flies?.
A 4
B. V20
C. 5 :
D. V26
In a certain code, ROUTINE is written as VMRGFLI. How will CRUELTY be written in that code language?
A. VOCVZRL
B. VPCVZRL
C. BGOVFIX
D. WPCVZRL

How many pairs of letters are there in the word ADVERTISE each of which has as many letters between
them in the word as they have in the English alphabet?
A. None '
B. One
C. Two . )
D. Three AR L _ g
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)
Rrenfader (WeeT 31-33): A weeT faAee ST oy el §:

grer. g T, @, @, 9, 8, v SR S e R g
& & gfdgw ¥ 2 el §

UH T & I A 2 TR B

o v & offmH d 1 R §

& St & gffor 7 2 el &

N & ad &2 R}

& oo @ 3§ & A A E

31, g F

A S 3

B. U 3N §

C. uw 3RS

D. St 3T &

32. T F & T vF gAY @ Ha@ gy &7
A. 3 3 @ -
B. uw 3N &

C. UG 3R

D. 5 3T &

33. whar 33 & Rar & v (R ) @ § Frah qx ¥
A 4 -

B. 20
G 5

D. V26
34. va fA¥Ta A5 &, ROUTINE & VMRGFLI & &9 & o Jirem &1 3% a8 #s1 & CRUELTY Ha

fer@r smaa?
A. VOCVZRL
B. VPCVZRL
C. BGOVFIX
D. WPCVZRL

35. ADVERTISE 2feg #F fhaat o2 3iew ¥, 5o & wedd o & &g 3oa & e ¢ Boa
3l avfarer & sg & @ g7

A. @IS el

Udh

OO0

ca
. ole
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36.

37

38.

39.

-40.

"1'is subtracfed from each odd digit and 1'is added to each even digit in the number 5249836. Which
of the 'folluwing will be the difference between the third digit from the left and the third digit from
the right of the new number thus formed?

A4
B. 5
c. 3
D. 2

Consider the following statements regarding 'Earth Hour': 1. It is an initiative of UNEP and UNESCO;
2. It is a movement in which the participants switch off the lights for one hour on a certain day every
year; 3. It is a movement to raise the awareness about the climate change and the need to save the
planet. Which of the statements given above is/are correct?

A. 1and3only

B. 2only
C. 2and3only
D. 1,2and 3

With reference to 'Global Environment Facility’, which of the following statements is/ara correct?
’ A. It serves as financial mechanism for 'Convention on Biological Diversity” and 'United
Nations Framework Convention on Climate Change'
B. It undertakes scientific research on environmental issues at global level
It is an agency under OECD to facilitate the transfer of technology and funds to
underdeveloped countries with specific aim to protect their environment
D. Both AandB &
With reference to 'Eco-Sensitive Zones', which of the following statements is/aré correct: 1. Eco-
Sensitive Zones are the areas.that are declared under the Wildlife (Protection) Act, 1972; 2. The
purpose of the declaration of Eco-Sensitive Zones is to prohibit all kinds of human activities in those
zones except agriculture. Select the correct answer using the code given below:
A. 1only
B. 2only
C. Bothland2
D. Neither 1 nor 2
'Bio Carbon Fund Initiative for Sustainable Forest Landscapes' is managed by the
A. Asian Development 3ank
B. International Monetary Fund
C. United Nations Environment Programme
D. World Bank
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136.#@5249836 A '1'vA% {ue 3 & weran aar g A ' gedd @H e J oaer st e
g fwfaf@a & & ala a1 a2 @ & v § 9 3@ 3R g @ et 3 & dig AT ge ?

o @ >
LEN 0, N

D. 2

37.'qedy &7 WAY' & AN # PEfaf@d suml W AR S L g quesdr 3 gerer f ager §; 2,
g U e ¢ oad ufawfal & &1 grd v ARgd Be 9¢ v g¢ & A Qs §9g #: & B
3. 7g Sterary aRadw X g H Fuia f JrEedEar 0 G A SeEddr dga & faT U et §)
9t U oo sue & @ &l ar @ &7

A. 1 3T 3 Fae

B. 2 &had

C. 2 3 3 Faa

D. 1,2 3R 3

38, "dffger gaiaeor ghawr & wee &, ifaf@a # 9 #a a1 Fue 7d

A. ?Te.'ﬂﬁﬁﬁﬁﬁﬂmwmﬁf'Jﬁdﬂlqﬁaﬁ?wmwmﬁﬁﬁme};ﬁﬁﬂﬁﬁﬁﬂ
a9 & &7 & &1 aar g

B. ¥F dRa® T W gAlavohy Hegl u denfod eraene axar §

C. ¥g OECD %Hﬁﬁﬂﬁﬁ%ﬁﬂlﬁqﬁﬁwﬁfﬂr?ﬁmﬁlﬁ% 38 & Wy Hawfaa
aﬁﬁmﬁmmmmdﬁﬁﬁmmmm%l

D. Aamaa‘rrrﬁ

39, ﬁTﬁﬁﬁﬁﬁ%mﬁﬁﬁmﬁmxﬁﬁmmwﬂﬂa‘r% 1. yitfefad-wgagaeia a9
Tesia (6eToT) WAfae, 1972 & aga 9fva fhe o &7 §; 2. qaiagor-gdeasier 8=t fr arwon
T 3EGT HY HI BIseh 34 QA1 37 Gl w1 Arra afafafst & gfdafa &6 §) & Roe e
HIZ FHI 3G FT el I F 99 Hi:

A. 1 Had

B. 2 %ad

C. 1 3t 2 &=t

D. aar13fivada2

40, waaaqﬁﬁﬁahﬁvﬂamdﬁ'qga'wwmﬁﬁmm%

A. Uﬁméﬁﬂmﬂm o

B. dadiodnr gy W ' 3
o waamwﬁa?wmﬁﬂ

D. acs d&
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Part-2
M;crol)iolagy
Section A: Multiple Choice Questions (40 marks)
(Every correct answer: 1 mark, wrong answer: -0.25 marks, not attempted:0) marks)

41. Which of the following is not true about cukaryotic cells?
A. Nucleus is bound by nuclear membrane
B. Chromosomes contain histones
C. Chloroplasts and mitochondria contain 708 ribosomes
D. Gas vacuoles are presznt
42, Mycoplasmas, rickettsiae and chlamydiae are
A. Types of fungi
B. Small bacteria
C. Protozoa
D. Types of viruses
43. The mechanism of action of antibiotic penicillin is to
A. Inhibit cell vall biosynthesis ,
B. Inhibit protein synthesis
C. Inhibit transcription in bacter a
D. all of the above
44. When a virus infects a host cell but does not replicate and kill the host cell immediately, it is
called
A. Synergism
B. Symbiosis
C. Lysogeny
D. Reverse transcription
45. The viral nucleocapsid is a combination of
A. Genome and capsid
B. Capsid and spikes
C. envelop and capsid
3. capsomere and genome
46. The general mechanisni of enzy1 e action is by
A. reducing the energy of activation
B. increasing the energy of activation
C. decreasing the pH
D. increasing the pH

4. Zymogen or proenzyme isa

A.  Modulator

B.  Vitamin

C. Enzyme precursor
D

Hormone G L
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HTIT - 2
- ABHETATSAT
W1a§ﬁrvhuwa;r(40ﬁ)
(e EET IaT 130, Terd 3T -0.25 3, WATH A¢r T a1 0 36)
41mﬁﬁ¥aﬁrﬁ$aﬁﬁﬁmﬁi‘aﬁﬁﬂaﬂmmmﬁ§?
A FfFeaE ] faee & @9 8 ‘
B. wrardrH & B @ €
C. FaRIcareey 3 AsawiTear & 708 wErdH g §
D. g deed AlE §
42, ATERICHTEATH, Fere i 3T Fdar
A &aF & YHIL
B @ =&
C wrersran
D arRy F 9FH
43, véarafes afRfafas i G & a9 ¢
A Bl are F147 HIEYOT Ha e
B I HIeI90T Haler
C JFafar # ufaewa 0%
D 3wRYEFd Tafr
44mﬂéwﬂmﬁaﬁaﬁamm%ﬁﬁnﬁﬁﬁwmﬁwa\mﬁaﬂwﬁ*
fﬂ‘ﬂ#ﬁmﬂm%a‘rsﬁmmﬁ '
A Rafees
B fwaranfaw
C femeEET
D Fad giafaca
45, A FFAHus & daloRT ¢
A Shavm 3l Ffcws
B &ftws 3k vsea
C vaAday 3R FHens
D Fearr 3 s
46. USTI3H FIES & MAT dF &
A afpaor € 531 & 7 FLAr
B @fsaor 7 59 & gef@
C pH®EEZ @ &
D pH &€ T 8
4731’!%:11%313:1%%
A. HAlgee
B. ferfasr
 C. 3EETHY TSTSH
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48. Km of an enzyme is substrate concentration at

A. Vmax
B. YA Vmax
C. Y Vmax

D. not related to Vmax
49, BLOSUM matrices are used for
A. Phylogenetic analysis
B. Pairwise sequence alinment
C. Multiple Sequence alignment
D. none of the above
50.  can be helpful in induzing polyploidy.
A. Ethylene
B. Colchicine
C. Radiation
D. All of the abave
51. What is the mechanism by which bacteria utilize glucose first, even if other sugars are
present? '
A. Operon repression
B. Catabolite repression
C. Bothaandb
D. Glucose repression
52. MAP kinase pathway or ZRK kinase pathway is a type (s) I
A. Rassignaling pathway
B. cAMPsignaling pathway
C. Protein kinase pathway
D. Tyrosine kinase pathway

53. The plastids of progeny will be normal green, if albino male wheat is crossed with a normal
green female bezause.
A. Trait for a albinism is recessive
B. Plastids are inherited from fevnale parent
C. Albino plastids of male wheat have mutated
. D. None of the above

54. What type of enzyme catalysis reactions are involved in transfer of electrons?
A. Isomerases ‘
B. Transferases
C. Oxidoreductases
D. Lyases

55. g .is the most abundant immunoglobulin in peripheral blood?
IgM
IgE
IgA
gG

onwr
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48. USIEA Hr KM Hegee gl &

A Vmax -
B ¥ Vmax
C. % Vmax

D Vmax ¥ #af9d =167 &
49, seliEA ARw &1 39URT R ahar ¢
A wraeraaAfes faeeryor
B ShEr 3gha E@x@or
C Ul 3rashal QLT
D 3udad # & #g 6T
50. gifacarssr O &t F Hergw @ wehar gl
A urgeiE
- B #rordifaer
C fafEor
D 39T o
51.9g o7 &7 ¥ Forasd ganr Shar] qgel Toflel & 39491 Fd ¢, HF @ AT Aleg @h?
A e gAe
B herdlange gHe
~CegmtA3RB
D TS gAa
52MAPﬁ#{am‘rm&RKﬁﬁ—ﬂﬂﬁ?wmﬁr¢w@n
A e au
B cAMP Rwsfeiar &
C &= fFas Ay
D eradrarg st AT
53. ellel & confies @ gy L7 & g, N feasr X A T gl Aver & wiE g S
gl . :
A TodifeH & fav v 2 yemaftyg @
B cenffesw Afyer wren-fOar & fawad & @ar ¢
Cﬂg’ﬁ:aﬁaﬂ‘rmﬁcﬁ#rﬂﬁﬁﬁag‘rm%
D 3udeFd # A 5 A¢T |
: 54, AFLAT & FEATAOT F Fw wwR i UongH 3T wRARkae aifae §2
A lsomerases - '
B transferases _
C Oxidoreductases
D asdw - '
55. &S qﬁtﬂwmﬁﬂaﬁwmﬁmﬂhﬂmﬁa%?
A JTESiTH
B ISl
C s v
D 3ngsha
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56.

58.

59.

60,

61.

62.

7 GET IT ON
Google Play

BOD which is an indicator of aquatic pollution stands for
Biochemical Oxygen Demand

Biological Oxygen Demand

Biological Organic Demanc!

Biochemical Organic Determinant

SEeR-IF-S

. Type IV Hypersensitivity also known as delayed type hypersensitivity is mediated by

A. Mast cells

B. IgE
C. Teells
D. NK cells

Microbiological examination of coliform bacterial contamination of food is determined by
A. MacConkey Broth '
B. Violet Red Bile agar

C. Blood agar

D. Eosine Methylene Blue Agar

Antigen presenting cells in our immune system are:

A. Eosinophils : .
B. Neutrophils
C. Teells

D. Dendritic Cells

The causative agent for syphilis s

A. Treponema pallidum

B. Neisseria gonorrhoeae .

C. Streptococcus mutans .
D. HIV N

Thick mucus and salty tears are characteristics of which of the following disease?
A. Sickle-cell anaemia

B. Cystic fibrosis

C. Tay-sachs disease

D. None of the above

Pernicious anaemia is caused by :

A. Haemolysis of RBC

B. Vitamin B12 deficiency

C. B cell deficiency

D. HIV

QSAR stands for

A. Quantitative Structure Activity Relationship
B. Quantitative Sequ%nre Alignment Recorder
C. Qualitative Structure Activity Relationship .
D. none of the above '
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56. @IS S AT HGHOT F FhAF B
A. SRS TS AT 2
B. Sifaw siferdlioer i
C. difaw sEfaw A
D. & fATe FEfas fFuRs

&i
A. ATEE HITTRT
B. IgE
C. T ®fm
D. NK =f3rerm,

58, VaTeT ¥ AW Sharo] siguor Y geAsnafwe afer qanr feiie far sar @

A. Heepiedr F@1g
B. araee el Tod agar
C. & agar
D. Eararger AR & 3R
59, gAY 9TATe womelr 3 @ifdisat # 9 e ae vdae
A. S3nwrEaithed
B. Fqgifther
C. T #frrd
D. dsfifes wfd=md
60. Fawfard & fav &R el §

A, Treponema pallidum

B. Neisseria gonorrhoeae
C. Streptococcus mutans

D HIV
61, FNET geraT A ST ity FITr e Al Rt §
A Toehe e welifaar
B faffes weafaw
C -#aw T
D 3udwd A ¥ HIg A6
62. wifafday vafdar s &ror &
A. RBC & gairensfrar
B. Rafda & 12 & &ft
C. & el H AT
D. HIV
63. QSAR & Aded ¢ ‘
A . Quantitative Structure Activity Relationship

B . Quantitative Sequence Alignment I ecorder
C. Qualitative Structure Activity Relationship

D. 39 & & #§ o
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64. In HAT medium, used for monoclonal antibody production, the role of aminopterin is
A. To block denovo and salvage pathway
B. To block denovo pathyvay oy
C. To block salvage pathway .
[). To stimulate fusion of hybridema cells
65. In electrophoresis, the electrophoretic mobility (‘n’) determines the characteristics of
migration of different biomolecules. Which of the following does not have any influence on
‘u?
A.  Stereochemistry of molecule
B. Size of molecule
C. Molecular weight of molecu’e
D.  Net Charge of molecule
66. An obligate anaerobe refers to an organism that
A. Doesn't use oxygen but tolerates it.
B. Iskilled by oxygen. -
C. Uses oxygen when present otherwise grows without oxygen when oxygen is absent.
D. Requires less oxyger,
67. A researcher performing Indirect ELISA has interchanged the primary and secondary antibody
vials such that he has put secondary antibody, then blocker, then primary Ab. He gets:
A. Nosignal at all N '
B. Low non specific constant signal with no gradation in all wells
C. High signal with gradation according to concentration of antigen
D. Lower than usual but normal pattern of graclation according to concentration gradient

68. Which of the foilowing concept represents that eukaryotic cell organelles like
mitochondria and chloroplasts ar. derived from prokaryotic cells?
A. Conceptual evolution '
B.  Conceptual symbiosis
C. Endogenous evolution :
D. Endosymbiosis

69. Germ theory of disease v-as proposed by
A. Robert Koch
B. Louis Pasteur
C. Edward Jenner
D. Joseph Lister

70. s an organism which fixes nitrogen in symbiotic association with  plants
A. Rhizopus ; ieguminous
B.  Rhizobium; leguminous
C. " Azotobacter; coniferous
D. Azotobacter; leguminous §

22


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247 |

64, HAT ACTH &, AFdlae TEEE) 3cqiest & fav 39ar fFar Jrar ¢, viasee e fr g
2 ;
A @) 3R Greds a9Td AW @ HaEEY e & fav '

B 3wl AN &1 3asey Hl & v

C @reast AT # Iasey H & v

D gEfaser SIRERT § daua & 3095 &= F Qv

65, SAFFRITAG ¥, SAFCIENRS TfRNeralr () et Ja-3pit & wareer i QAT &
PuiRa s &) PfafEa & @ e & 'y W #1 uaa 78 ggar 82

A. 317 T FORDRAE

B. 3197 T INHT

C. 319 & 3MoTias HR

D. 310] T el HIA.

66. U &ty UANE U Siid &I Heidid i &

A. FHTFEYSTsT &1 39ABr Jg7 #idr & afhe 38 @ +ar 8

B. 3iferellSis ganr ART Sar g

C. 3iedIarT & I9fEud g9 9T HiFHIate &1 39T S ar §oofd 3eaAr AiEdes § @ g g
D. &7 iferisa & aeTdar & ’
67. IMCTET TTRHET Wl Fa aTer Ud Mumar o wiafie 3 Areafie odeErd Nt @ sea

'W?S\?%ﬁﬂmﬁaﬁ,ﬁwmﬁwwﬁmmmmaﬁmma:

A. Trogel FE Wb AET

B. @l F3it 7 &g dea & @y F1 I Al e @dd

C. UoSTsT #1 Wigal & HeHR FADB & @Y Ied Fahel

D. T & F37 AT TG el & ITHR HiAhar & ey tee

68. rafafa 7 & &ia | amuron g § o gffRs aw idffagen
ArgeYRTEar M FecaTEe WaEiRE AR @ g g §? " *
A. HaeuTcHE A "

B. @deuslcHs fararafaa

C. veafaaw s

B. o WeT

C. Ugds Sl

D. ShAw faret s T
70 uwmSa st el & ay RFEaRe caftved & awdea & S war §
A, TSI e ¥

B. Ts=ifaTs; well &1

C. TSiIerdeey; At

D. USEEaFeL; Wall &l
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71. Stationary phase in bacterial gro #th curve is achieved because

the bacteria become stationary due to starvation

the bacteria become stationary in order to prepare for cell division
the rate of bacterial cell division is equal to the rate of cell death
of loss of Brownian motior.

o>

72. Crown gall disease in plants is caused by
A. Rhizopusdelemari '
B. Agrobacterium tumefaciens
C. Penicilliumnotatum
D. Xanthomonasoryzae

73. The scientific nume for brewer’s yeast is
A, Saccharomyces cerevisiae
B. Saccharomyces pombe
C. Candida albicans
D. Pichia pastoris

74. In C4 plant, the source of CO; during calvin cycle is
A. Phosphoenolpyruvic acid '
B. Oxaloacetic acid
C. Malic acid -
D. Pyruvic acid

75. Phylogenetic relationship can be shown by
A. Dendrogram
B. Gene Bank
C. SWISSPROT
D. Polygram

76. How many potential open reading frames are possible in a DNA sequence?

Al
B. 2
3
D. 5

77. s the major site for gluconeogenesis
A. Kidney :
B. Intestine
C. Liver
D. Heart

78.  The natural host of the Nipah virus are 8
A. Mice ' '
B. Bats
C. Humans

D. Ruminants

24


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

71. Sty fasre as 7 TR =or gifder faar e § Fife
A. sEerdt & sror dFdfar B g amer &

B, FIer fasrsier & fov dur #e & fav shary e g s §
C. Sfraroy sifRisr fQamsia 1 ¥ A 7eg i o F aua ¥
D. s3faaer aifer & agehamer &
72. dtedf 7 w13 e 9T & FHRoT g @

A TgSgEEaAY

B. wRERRas qAkfaTew

C. Wfafafams aten

D. @ ARTES
73. 961 & @A & fav dafaw am g

A. Ba0HEAw wfafad

B. ARABAY G

C. HfEar Icdmeg

D. R gwafia
74,91 4 §IF A, %feaq g% & R CO, &1 WF &
BIERITATed R TaS UiiE
MearaiTafes vfaE
qsias uis
75. B ed G GarT R Sroadwhdr §

A. S '

B. aftet s

C. Feawmre

D. refrarH
76. AT HefhAt H T @A @ gsd b dara §?
A1

B. 2

C.3

D. 6
77. @SR & fOw _ wrw wse §

A

B. 3

C. faax

D. #&u ;
78. farurg araew &1 ST Ao § U

AT

B, 9H9EE

C. wwa

D. ¥ffeieH

=

GET IT ON
. Google Play

e 3T Y g T Y
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79. What is in-vitro packaging in genetic engineering?
A. Splice and ligate a desired gene into a plasmid
B. Incorporate recombinant DNA into infectious bacteriophage particles,
C. Incorporate recombinant DNA into cosmids
D. None of the above

80. What is the role of Zinc fingers in cellular functions?
A. They act as catalytic sites of many metabolic enzymes
B. They act as structural mntifs in many DNA-binding proteins
C. They are the structures with high redox potential
D. They are the characteristic of palindromic stretches of unique DNA sequence

79. Sfew sshfaafier # sor-fagr 9SG &ar 2

A. TUelEd 3R efTe serfoAs A e aiftd sie

B. wehraeh AR ol A goF: @ oid Suae e wY
C. #IfEns # qof: A uaw e Y

D. 39dFd & & H 7

80. Aefort hrdl  SrEar Iarferdl v sffAe &4 87 ; '

A ¥ FE gUTET USTgAT 61 3o wisel & &9 & w ad ¥ ' .

B. 2 &g Stav-arens il fAA & d@vadeAs w9 & w9 F w7 a1 E

- C. ¥ 379 EF0 &THAT Ty G

D. & yrefadta v srep ARG R B RO E
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Section B: 12 marks (Each question carries 4 marks)
argarT a: 12 st (el vy 4 sie g E)

o 81. What are continuous cultures? Using a graphical representation explain how the bacterial & v
growth curve will be modified in case of a continuous culture

81, e Hatsr @1 €2 ve anftbeer WiARARed &1 3uaer e THsTAr ¥ B ey gate
& AHA H Slaw] @ an FA aafoa B smeem? -

82.Long term use of antibiotics often lead to diarrhoea and use of probiotics and prebiotics is

recommended. Explain why. How are probiotics different from prebiotics?

Bz.mgwﬁwmmmmﬂwm?mmmm 4
shardfea F ST w B e & ol ) e w6 e farafen
¥ I HY '
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83. Explain how Km and Vmax are affected in case of competitive and non competitive enzyme
inhibitors.

83. wag & gfwaddt s I afdcadt vemew watuEt & " B Km 3 Vmax dr
gifae g1 ¥ o :
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Section C: (8 marks)  SIHTT 1: (8 3i)

84. MHC [ present endog=nous antigens to cytotoxic T cells while MHC 11 presents
exogenous antigens to helper T cells. How is endogenous antigen presentation by MHC I
prevented in antigen presenting cells which have both MHC I and MHC II molecules?
Can there be an occasional cross presentation of exogenous antigen by MHC | molecules?
In case yes, explain how. - '
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